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S BB
M Hole Mol ¥ N
Cel: MRz EHES 29 (=E L

ZE - (BH) - NRAY - BaS sl e HlRE2
0 & 24
—HA=I| L ARZERS ZEI| SA2e
1,000,000 = 3CH 3,000
OXtg & et 15,400
— XA X 7,700,000 = 2CH 15,400
OZSFEs Y228 =] 12,500
— AT HL 500,000 * 259 12,500
M=l 4,800 145,900 A 141,100
24l 4,800 145,900 A 141,100
Oz 7Y 400,000 = 128 4,800
ANEHI LRI 30,000 70,000 240,000
A& 30,000 70,000 A 40,000
ONEEsSHEZT Ald St 30,000,000 30,000
DIS0HE X 2L 189, 140 0 189,140
L2 A 84,340 0 84,340
01 AtER22/Hl 38,580 0 38,580
Oget=gH| 35,580
—MNEEZMEX EL2IIA =2
2,500,000 * 2702 5,000
—OHERX =& =ZJA =2 20,480
Xlot 8, &=+ 2
160,000 * 100Ha » 12& 19,200
- Not== BiXl= 1, SlSHiKI= 1
160,000 * 204 * 42| 1,280
—HEX @ES(RHEs, LMHIA) ZAL =
= 100,000 *= 5XI& * 42| 2,000
—&d&=+ =ikl HMeldl 10,000 = 60&E 600
—OHE A M=% 2,500,000 » 33l 7,500
Oogx= 3,000
—S2dH Xz 3,000,000 3,000
02 23234l 45,760 0 45,760
O=32=22LAAl 2,500
—SE=EE= 1,900
- =4 700,000 * 1CH 700
-HESIS(EEE™) 1,200,000 * 1CH 1,200
—&J| AME 200
=40| 100,000 * 1CH 100
HEsts(dZEd) 100,000 * 1CH 100
— XS XA 200,000 » 2CH 400
OAIE&EHl XYl 13,100
—EHEXAAME JIAHF X2 4,000,000 4,000
—HIEAE SXl2c 500,000 500
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S B2
I HIIE Ml ¥ REF
el ANE=gdE e 2 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
—2HH HEXN =8Z 72l
900,000 * 294 * 23] 3,600
—H2AIE |22 4,000,000 4,000
—2E JIARF(FeA, 29) WE
1,000,000 1,000
OXtgt & et 30, 160
—=4)] 16,500,000 * 1CH 16,500
—HEsES(EZEy) 13,660,000  1CH 13,660
206 M=l 52,700 0 52,700
01 M=H| 52,700 0 52,700
Ol stehxd 22 FY 5,000,000 5,000
OLSAZ(LEH) 40,000 * 22/& » 903 7,200
O<x E5NM 50,000 » 50= 2,500
O=&EM 60,000 = 600CH 36,000
OH&= g3zs 7Y 10,000 * 200X 2,000
401 Al&HIZL=ROHYI 50,000 0 50,000
01 Al&Hl 50,000 0 50,000
OUEXN R332 A& SA 20,000,000 20,000
OUEX A2 X2l 30,000,000 30,000
405 AHeHESHI 2,100 0 2,100
01 T =S FH SHI 2,100 0 2,100
oaxg +¢ 600,000  1CH 600
O7UH =28 &40l & 1,500,000 = 1CH 1,500
HOI2LEAE 22 220,895 0 220,895
101 el ] 99,815 0 99,815
04 JIZtHIZ2E2HEES 99,815 0 99,815
OAl£ZHl 2¢ 28Y 99,015
— QIR (A2t ZE)
67,570 » 4 « 28 « 128 90,815
—=28z 90,815,000 * 5.1% 4,632
—2HAH 3,000 » 4% 22 « 128 3,168
—u=s2aH Zh 100,000 * 4H 400
OJI2tMZ 2 X Tl =4l 200,000 * 49 800
201 LEH2HH| 33,100 0 33,100
02 =234l 33,100 0 33,100
O3 2a32AA 600
—Z2R0 SELEE= 400,000 * 1CH 400
—Z220 FIIFAME 200,000 = 1CH 200
O¢ =zl 5,000
—¢=3 29 5,000,000 * 1JH 2 5,000
OAIZ8&EHl XYl 22,000
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X XH .
S Tt

ok

SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
-4 24 20,000,000 20,000
25 JIHRR(P2A, 22) BE
2,000,000 2,000
(OPF=ul= =] 5,500
—224 5,500,000 = 1CH 5,500
206 M=l 87,980 0 87,980
01 M=H| 87,980 0 87,980
OgEMY Il HHgdZEsH 2,000,000 * 25& 50,000
OgsMYy I ZTEHEE 60,000 = 6002 36,000
OE=+¢Y 165,000 * 123 1,980
HIIZXe2l JIBtAld &= 8,699,900 8,817,000 A117,100
= 2,460,000
& 2,869,950
= 3,369,950
HOI2 ®XelAld(MBT) &XI 8,699,900 8,817,000 A 117,100
= 2,460,000
& 2,869,950
= 3,369,950
401 AIEHIZ 2 500,000 10,000 490,000
01 Al&t| 500,000 0 500,000
OXcstdy =H EX e 500,000,000 500,000
402 212t XH=01A 8,199,900 8,807,000 A607,100
= 2,460,000
& 2,869,950
i 2,869,950
02 CIZ2+CHEM At I 8,199,900 8,807,000 A607,100
OHJIZ2 EX2IAl-(MBT) &XI 8,199,900,000 8,199,900
= 2,460,000
& 2,869,950
= 2,869,950
HY2AZU(2Z ) 67,259 66, 160 1,099
Jl2dul(ed ) 67,259 61,960 5,299
Jl2Z | 67,259 61,960 5,299
201 LBt 36,455 36,455 0
01 AFR 22| 36,455 36,455 0
Oger=ZH| 31,655
—JISANRESZ 7Y 3,000,000 3,000
—SASX L (A4) 4,000,000 4,000
—SMEZEIY 2 HESE £ 2,000,000 2,000
— &S A FA2E 3,375
EULILELIX 250,000 = 3CH * 33l 2,250
SA| =2l 125,000 = 30H * 33 1,125

_16_




SA: BFD
A HMP AR (FB D)
S I3 (SF L) (&te &=
_ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
—malg Xzl 13,280
EUIELIX 150,000 * 10CH * 43 6,000
EUIERIX(ZH)
270,000 * 6CH * 43| 6,480
Z2iE e 50,000 * 16CH * 13 800
—FAX EHRY 300,000 * 2CH * 23] 1,200
—dei)) AS 20,000 * 10CH * 123 2,400
—EFANH EE2S ME 600,000 600
—BHEEMA HE 120 * 5& = 1,0000H 600
—EIHTPEY R 2L 100,000 * 123 1,200
O] 4,800
—AZIQI22 X E20HAIY] 4,800,000 4,800
202 04 H] 25,344 24,495 849
01 2U 0y 25,344 24,495 849
AR E=ZR )| 24|
120,000 * 22 * 122 * 80% 25,344
203 YREZAH| 4,200 0 4,200
04 BEN2IASFZH| 4,200 0 4,200
ORMNSIAAREXH|(EAF D) 350,000 « 12& 4,200
405 RHAHE S| 1,260 1,010 250
01 AHAILSEFSH| 1,260 1,010 250
O AH(BI2) 200,000 * 2JH 400
O9 X} 180,000 * 2JH 360
OdED 500,000 * 17K 500
Hess(sa3n) 264,600 0 264,600
WEAHHXS (&2 D) 264,600 0 264,600
LHEHH KIS 264,600 0 264,600
701 JIEISIHEE2 264,600 0 264,600
01 JIEISIHEE2 264,600 0 264,600
O%ZNHSHIIHEES 264,600
—ZSHOIMESAZSAIE X2 241,000,000 241,000
—>EQAEZRRINE 0l YI
23,600,000 23,600
Hess(sdn) 975,210 0 975,210
WEAHHXS (22 975,210 0 975,210
LHEHH KIS 975,210 0 975,210
702 J|2NE2 250,000 0 250,000
01 JI2E=E2 250,000 0 250,000
OJNEZ HIISHIAIE FHXNE F=2IXRD]
=S 250,000,000 250,000
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A 230
FH: {RES(2F)
Sel: WRHAXES (321 (98
_ _ AT
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
705 Ol==&cl=as 725,210 0 725,210
01 tl==sEsae 617,200 0 617,200
OHIISHMelAIE(MBT) €Xl tl+= &3 &
&t 617,200,000 617,200
02 Oll=== 0l Ahatgt 108,010 0 108,010
OHIISdMelAl&(MBT) &%l Ol=== OIXt &
=iy 108,010,000 108,010
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